HX B O R OE$ (k2347 A 1 B B7E)

FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa el Hi[X 4 JLRE 4 a Elcat i
% o | s | | & | #REK 7 | ke || B | & [#EK

1 B 801 926|  912| 1,838 4 1 4 40 A H 262  347|  349| 696

2| A (fE) 973| 1,165| 1,211| 2,376 44 IR 3 3 5 8

4 e 500 515|  529| 1,044 45 JH/ | 109 97 82 179

5 Jbs e <F 345 466 448 914| 45| 45 45 48 k= 394 447 509 956

6 AH 229|  380| 341 721 49 RN 305 338| 373|711

8| Al (fF) 343 380 404 784 50 LD HL 367 394| 457 851

10 1E1L 212| 211 221 432 52 [iE)7238 435 508]  531| 1,039

11 B 53] NEHAE 444 444  536| 980

14 _E 6 12 7 19 55 oo H 355  394| 436 830

15| BAEHISE 1,226 1,540| 1,627| 3,167 56 R 258 266 326 592

16| FHERISE 984 1,364| 1,431 2,795 57 B i 168 197 206 403

17 W2 380  384| 454 838 58 — 191 184  224| 408

18 &7 R 3201 411 419 830 59 N 2001  226| 249 475

19 SR A 17 19 21 40 60| TG A 17T B 218 237 238 475

20 A B 1,201 1,439 1,393 2,832 117| 117 117 61| mE1TH 117 125 145 270

22 FyhF 828  986| 1,088 2,074 62| wmHE2TH 151 183| 212 395

23 B 282 352 359 711 63| mHE3TH 196] 210  240| 450

24 HHN 889| 1,048| 1,126 2,174 64| mE4TH 73 93 86 179

25 VALl 65 /INRHHT 405 488  502| 990

27 oKW IA 261 276 342 618 66| HrnH 185 219 232 451

29|  FEAGE 21 21 21 67 BE 110 132 155| 287

31 L 79 102 98 200 68| TG 27T B 217 257 275 532

33 KL 329  389| 425 814 69 JtEE 147 184| 215 399

38 FoYAN 156 189 172| 361

9| AN E 144 200 208| 408 7t 15,836| 18,748| 19,819| 38,567| 166| 163 3| 166




X BN O R O (SER234E7 A 1 H BL7E)

FEFRoR X FJEZR R
AR OB T AR OB WY
H1 X A4 QLIRS Hi1 X 44 QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 502|  509|  498| 1,007| 16| 16 16| [391| #AFITH 455 487|478 965
312| %2 TH 178| 210 214 424 392| 2T H 106| 112 108| 220
321 ME1ITH 384|  367| 396| 763 393 W31 H
329| fE2TH 655 661 702| 1,363 411 KRE1TH 375 411 430 841
323| ME3TH 436 492 484 976 412| KM2TH 365 423 465 888
331 BAMI1TH 569  539| 522 1,061| 33| 33 33| | 413 AWM3TH 279  280| 285 565
332 BAHZ2TH 413 441|472 913 414 A4 TH 425 441|434 875
333| BAM3TH 407\ 369| 401 770 431 WE/HTTT H 400|  458| 500 958
334| BAH4TH 631| 669  786| 1,455 439| WE/HT2T H 845  961| 1,058 2,019
341 R#1TH 783  773|  790| 1,563| 69| 69 69| | 440 kS 642 744  779| 1,523
342| RMH2T H 292 359 351 710 3 3 3| | 451 EFWS1ITH 453 517 569| 1,086
343| K#3TH 398  468| 480 948 452 EFIR2TH 2501 249| 309 558
344| R4 TH 293 302 352 654 461 —XCE1TH 819| 1,025 1,060 2,085
345 RK#5TH 392  398| 480 878 462| —3XH&E2 T H 637|  734| 758 1,492
351 KM1TH 926/  897| 986| 1,883 4711 AHITH 44 51 61 112
350 EM2TH 922  853| 970 1,823 472 AH2TH 212 275 278 553
353 KM3TH 710 738|790 1,528 8| 5| 3| 8| |473] S HS3TH 178 226 224 450
361 RAE1T H 293 294 237 531| 87| 75| 12| 87| |474| S H4TH 308 443 467 910
362| HAHEZ2TH 396| 452 482 934 475 AH5TH 271 334 362 696
370 o5 7 < 583|  648|  625| 1,273| 26| 26 1l 27
381] AH1TH 198 288 249 537
382| AH2TH 700 1,007| 978| 1,985 = 18,417| 20,274| 21,203| 41,477| 242| 227| 16| 243
383 AH3TH 292 369 333 702 N 34,253| 39,022| 41,022| 80,044| 408| 390 19| 409




